
Should Lucas go to university?

Lucas is a bright young man that lives for two periods. He must decide how

much to consume today (c1) and in the next period (c2). In the first period,

his income a wage w1 he receives from making rollerblades in a factory. Lucas

has also received an o↵er to study at Nobel university. If he decides to attend

university, he must incur a cost p in the second period and immediately

receive a higher wage w2. If he does not go to university he earns the same

wage as in period one. Lucas has access to a bank account that pays interest

r on his savings. That is, whatever he does not consume stays in the bank,

and next period he receives back his principal plus interest. He can also

borrow from the bank in period 1 (if he borrows x then next period he has

to pay back x(1+ r)). He cannot borrow to pay for school; borrowing is only

for increasing consumption in the first period.

1. The period 1 budget constraint is given by

c1 + s1 = w1 (1)

where s1 denotes first period savings - money in the bank. The period

2 budget constraint is given by

c2 = w1 + s1(1 + r) If he doesn’t go to university (2)

c2 = w2 � p+ s1(1 + r) If he goes to university (3)

Derive the intertemporal budget constraint (IBC), noting that things

change depending on how much c1 Lucas chooses.
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2. Why are second period terms divided by 1 + r?

3. Why does it matter if c1 is greater, equal or smaller than

1

1 + r
[�p+ (1 + r)w1]?

1


